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SECTION-A (10 Marks)
Answer ALL questions

ALL questions carry EQUAL marks (10x1=10)
1 By fundamental theorem of algebra, f(x) = p  x" +p X" b+ X+ py, =0
where po, p1, --...Pn are real and py # 0 has root.
() n (i) n-1- (1ii) atleast one (iv) many
2 Form a rational cubic equation which has roots 2, 3, + v-2..
i) x*+4x*-21=0 (i) x° —8x*+23x—22=0
(iii) x*-4=0 (iv) X —23x=0
3 In m x nmatrix if m=nthenitisa matrix.
(i) scalar (ii) diagonal (iii) symmetric (iv) square
4 Any 1 X n matrix is called _matrix.
(i) unit (ii) column (iiij)row  (iv) identity
3
5 dp x7 )
dx| 3x—-2
2 2., 1
(i) 6x (ii) x“(x+1) (iif) 6x°(x ;) (iv) 3x .
(3x-2) (3x-2) (3x -2) (3x - 2)
6 9 (sin? 2x) =
dx
(i) 2sind4x  (i1) 2cos4x (iii) 2 cos 2x  (iv) 2 sin 2x
n
‘7 d_(eaX) —
dx"
eax eax
(i) ae™ (i) a"e*™ (i) — (iv) —
a an
4
8 —d—z(e_X COSX) =
dx
(i) y (i) 4y
(iti) -4y (iv) -ye™
9 I3x2dx = +c
(i) 3x%° (i) 6x°
(iii) x° (iv) 6x
10 jxexdx = +c
() €f (i) ¢ (x-1)

(iii) xe* (iv) /xeX
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SECTION - B (25 Marks)
Answer ALL questions
ALL questions carry EQUAL Marks (5 x5=125)

One of the roots of the equation 3x° - 4x* — 4257 + 56%° + 27x =36 = 0 is

V5 + 2. Find the other roots.
OR
Solve x> — 12x% + 39x — 28 = 0 whose roots are in A.P.

1 2 1
IfA=|0 1 -1, findA’-3A%’-A+09I
3 -1 1

OR
- Jo 5 -3
Express |1 1 1 | as the sum of a symmetric and a skew symmetric
14 5 9

matrices.

If x¥=¢"7 find dy / dx.
OR

f
Ify = y/(sinx + \/Isin X ++/sinX......to o find dy/dx.

Ify= (x+V1+x2 y? find (l+x2)y2 + Xyj.

OR
2 2
1= o+ y? + ) 5 fing 2L, OO
2 ol oy
Evaluate J.Xz 2x-1y
Jx
OR

Evaluate I cos? 2xdx .

SECTION -C (40 Marks)
Answer ALL questions
ALL questions carry EQUAL Marks (5 x 8=40)

If the roots of x* + px*+ qx + r =0 are a.B,y find

M) Y o®p (i) Ya? i) Do® (v) (a+BB+yIA+a)
OR
Solve : 6x°—25x° +31x* - 31x*+25x -6 =0

Show that the equations 3x + 4y + 5z = a, 4x + 5y + 6z = b and
5x + 6y + 7z = ¢ don’t have a solution unless a + b = 2b. Solve the equations
whena=D>b,c=1.

OR
Test whether the following equations are consistent :
X+ty+z=8 x-y+2z2=6, 3x+5y 7z = 14 if found consistent, find a

solution.
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.. dy 3at 3at?
Find —, when x = 3-Y= :
dx 1+t 1413
OR
Ify= and sin x = 2t , find i}i
1t 1+t dx

Ify=x’" find y, — Y2 n (n-1)y, - n (n - 2)y; + % (n-1)(n-2)y.
OR

V ‘}/ 2 2 2
If y/m+y /m =2x, find (X" — 1)ya+ 2n +DX ypey + (0° —m7)yy.

OR

Xtan x 3

— (X
(secx +tanx ld

s

_
Evaluate j(
0

7-7-7 END



